
Note: the best way to study for the tests is to:

· Start by reading the slides and writing them in your notebook (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

Reserve some hours (perhaps 4) every week to answer the questions. If you answer them properly, then you’ll need to study much less before for the tests. Students who choose not to answer the weekly questions seldom pass the course.

Please write WEEK 6 in bold at the beginning of your answers.

WEEK 6
Ch. 3: Kalecki

L10: Kalecki’s theory of price determination and consequent theory of income distribution

1.Who are the production-line workers and the overhead workers in a faculty? Explain
2. What happens to the cost of a firm in rents, interest and overhead workers as output rises up to full-capacity? Explain

3. The marginal cost of a firm in raw-materials, energy and production line workers increases as output rises up to full-capacity. Do you agree? Explain.
4.Why do restaurants want to keep some tables idle on average over time?

5. Explain how firms set their prices.

6. What happens to aggregate nominal income and income distribution when for some reason firms start aiming at higher profit rates? Explain

7. What happens to prices, aggregate nominal income and income distribution if, as a result of high unemployment, production-line workers start accepting lower nominal wages? Explain.

8. When AD rises by x%, do profits rise by x% , by more than x% or by less than x%? Explain.

9. Consider the numerical example of the lecture and the correspondent graphs.

a) What happens to the four types of income if AD falls from 320M € to 160M €? Draw the new income distribution in the lower graph.

b) Indicate in the upper graph the new point of operation of the typical firm. That point is called the break-even point. What does that mean? If you don´t know, look at the Wikipedia.

10.  Consider again the numerical example of the lecture and the correspondent graphs.

a) What happens to the four types of income if AD falls from 320M € to 140M €? Draw the new income distribution in the lower graph.

b) Indicate in the upper graph the new point of operation of the typical firm. Indicate the area corresponding to the losses of that firm.

L11: Kalecki’s C function + Keynes vs Kalecki
11.a) Write Kalecki’s C function.

b) Write the two simplified forms of that function.

12. What determines the level of output in both the Keynesian and the Kaleckian models?
13.a) Write the structural form of the Keynesian model (the initial form), explaining the causality implied in the first equation.

b) 
b) Which factors influence AD in the Keynesian model? Explain.

c) Obtain the reduced-form of the Keynesian model (the equation of the multiplier).
14. a) Write the structural form of the Kaleckian model.
b) Obtain the reduced-form of the Kaleckian model (the equation of the multiplier).

c) What are the two determinants of AD in the Kaleckian model? Explain.

d) What’s the difference between the Keynesian and the Kaleckian multiplier?

15. Explain the first reason why the propensity to consume out of wages is higher than the propensity to consume out of profits. Does that reason apply especially to the difference in the average propensities to consume or especially to the difference in the marginal propensities to consume? Explain.
16. Explain the second reason why the propensity to consume out of wages is higher than the propensity to consume out of profits. Does that reason apply especially to the difference in the average propensities to consume or especially to the difference in the marginal propensities to consume? Explain.
17. Explain the third reason why the propensity to consume out of wages is higher than the propensity to consume out of profits. Does that reason apply especially to the difference in the average propensities to consume or especially to the difference in the marginal propensities to consume? Explain.

…

18. Explain the first reason why the larger the amount of its own profits a company uses to fund new I, the larger the amount it can borrow from outside.

19. Explain the second reason why the larger the amount of its own profits a company uses to fund new I, the larger the amount it can borrow from outside.

20. a) Present the balance-sheet of a company.

b) What is the cash-flow?

c) What’s the difference between cash-flow and profits?

d) Why does an increase in the amount of debt relative to the value of assets of a company increases the probability of default?

e) Explain why this implies that the larger the amount of its own profits a company uses to fund new I, the larger the amount it can borrow from outside.

1

